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8 27.2 87
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24.8 2734 -2.54 6.4516
30.6 3126 -0.66 0.4356
311 29.39 1.71 2.9241
28.2 2070 -1.50 2.2500
316 28.96 2.64 6.9696
29.9 30.00  -0.10 0.0100
315 30.57 0.93 0.8649
27.2 27.65  -0.45 0.2025
33.3 3367  -0.37 0.1369
32.6 3312 -0.52 0.2704
. 30.6 28.58 2.02 4.0804
o S . 28.1 27.04 1.06 1.1236
el = S el KIRS F & 7 £ (Residuals) - 25.2 2698  -1.78 3.1684
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31.9 3206  -0.16 0.0256
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Analysis of Variance

SNEHE (mpg) Sk TS (mph) - BVED () - S PR
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%’@&5 X X Modal 3 134.59603 44.86534 83.070 0.0001
R Y 1 X, 3 Error 16 8.64147 0.54009
€ Total 19 143.23750

24.8 88 92 646 Root MSE Spp 0.73491 _  R-Square 0.5357
306 93 60 465 :-fs_r{een Jsfisgg ¥ Adj R-5q 0.9284

1
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3 31.1 91 58 359 Parameter Estimates
4 282 90 52 665 . Parameter S:aﬂdard T for HG:N
variable = Estimate Error Paramarar=0 Prob = IT|
S 316 90 55 214 INTERCEP 1 -59.004533 4 7.09881835 -8.312 9.0001
OCTANE 1 1.209731 & 0.08812242 13,728 0.0001
6 29.9 89 46 606 ;;F.F.r} 1 -0.296972 by 0.04181721 -1.102 0.0001
7 31 5 92 58 458 LOAD % 0.009833 & 0.00119102 -B8.256 0.0001
Predict std B std E Student
8 27.2 87 46 557 Obs ’ rs\g'_ue Pradict  Residual  Residual  Residual
¥ ¥
9 33.3 94 55 605 1 ] 25.6566 0.344 -0.8566 0.649 -1.319
31.1093 0.263 -0.5093 0.686 -0.742
10 32.6 95 62 407 i 1;.;25; a.z:a 0.7729 0.692 1118
4 27.8892 0.288 0.3108 0.676 0.460
11 30.6 88 47 259 H 31.4301 0.356 0.1669 0.643 0.250
' 6 29.0415 0.357 0.8565 0.642 1.337
7 30.5623 0.208 0.9377 0.705 1.330
12 28.1 89 58 423 a 27.1038 0,381 0.0962 0.529 0.153
13 25.2 90 63 596 - fan b em e
14 35.0 93 54 286 1 30.9469 0.431 -0.3469 0.595 -0.583
' 12 27.2713 0.327 0.8227 0.658 1.250
.20 25.3010 0.483 -0.1010 0.554 -0.182
15 29.2 91 53 612 }: izgu?g 3-\.;522 0.341 0.3488 0.651 0.536
9.2 .323 .2 -0. 0,696 -0.177
16 31.9 92 52 399 16 3lso0 2y 0231 los  olass  -iem
17 27.7 89 52 444 17 27,7000 28.8526 0.223 -1.1526 0.700 -1.646
. 18 31.7000 32.1165 0.425 -0.4165 0.600 -0.695
18 31.7 94 53 697 19 34,2000 331.7663 0.280 0.4337 0.679 0.638
. 20 30.1000 30.2867 0.245 -0.1867 0.693 -0.270
19 34.2 93 54 376 | B, e
20 30 1 91 58 363 24 | Predicted .Resir.l ss. t.g.ziss: 12.7560 s
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3.85 1.89 0.5 - -
13.75 7.1 3.0 - -
34.6 154 6.4 - -
88.4 36.8 15.9 - -
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24.8 1.2 11 30.6 0.2
30.6 0.7 12 28.1 0.7 45
31.1 0.3 13 25.2 0.6
28.2 0.6 14 35.0 0.3

19.2 11.7 4.4 2.6 1.5
76.9 39.7 16.9 10.8 3.2
152.2 77.1 36.4 14.6 52
220.2 100.2 49.3 19.3 5.1
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31.6 1.2 15 29.2 0.8
29.9 0.1 16 31.9 0.7 65
315 0.2 17 27.7 1.4
27.2 0.1 18 31.7 1.1
33.3 0.3 19 34.2 0.2

101.5 41.0 15.4 7.1 2.9
139.8 113.0 44.0 9.4 4.0
228.0 100.0 54.7 17.0 4.6
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' ; 5 " Q-9.8 | log(Q-09.8) H logH
o 7 H(m BEQ(cms) ZEBMT :
1}“ 13 11 Efﬂ%n”lzj{& ( ) ng % 1 6.1 00,7853 0.49 —0.3098
2 13.3 1.1239 0.78 —0.1079
JfL» H(m) | 0.00/0.49|0.78|0.88(1.03(1.20(1.28}1.34|1.36(1.51 3 20.0 1.3010 0.88 —0.0555
4 22.0 1.3424 1.03 0.0128
% » Q(cms)| 9.8(15.3(23.1/29.8|31.8 |40.2|46.2|49.8[54.5| 61.0 - o | 420 |90 -
6 36.4 1.5611 1.28 0.1072
H 1.55 1.76 1.86 1-92 21 -OA 7 40.0 1.6021 1.34 0.1271
- : 8 44.7 1.6503 1.36 0.1335
71.0 82.5 93.2 105.1 113.4 9 51.2 1.7093 1.51 0.1790
10 61.2 1.7868 1.55 0.19%03
11 72.7 1.8615 1.76 0,2455
RALlQ=aH®+b BX » fEEEMHEER 5 ° 12 83.4 1.9212 .86 0.2695
= —_ 3 : L979 ,92 0,5
2 BWH=08K,Q=09.8cms » B b =9.8cms » 1 95.3 1.9791 1 2833
’ 14 103.6 2.0154 2.10 0.3222
Q—9.8=aH" $22.1223 X 1. 4764
FEH  log (Q—9.8)=loga+nlogH 22,1223
. . 4 log(Q-9.8)=y» ¥y= = 1.5802
_ 1.4764
logH=x sy X = = 0.1055
28 29
B - = o e _
BUTERAE (y-7) ,(x—X),(y-¥)°, (x-x)" R (x-X)(y-¥): Xy N R
— _ _ — = = T(x—-x)? 0.3921
5 Y-y X —X (y=¥)°% | (x-X)? | (y=¥)(x%x) Sl= of e / — 0.1737
1 —0.7949 0.4153 0.6319 0.1725 0.3301 o
v ZHEEHERE
2 —0.4563 0.2134 0.2082 0.0455 0.0974 .
Ly—%) 1.5931
3 —0.2792 0.1610 0.0779 0.0259 0.0449 Sy= /Z [: == /14 ] =0.3501
4 —0.2378 0.0927 0.0565 0.0086 0.0220
5 0973 0.0263 0.0095 0.0007 0.0026 FaphiR :
ik ' : : : S(x—%) (y-7) 0.7870 e
6 L0191 0.0017 0.000 0000 0.0000 r= = = 0.
0 004 0.000 000 VE(x-%)PR(7-7)° v 0.3921 x 1.5931
7 0.0219 0.0216 0.0005 0.0005 0.0005
_ s _
8 0.0701 0.0280 0.0049 0.0008 0.0020 AR (13-78) - BEHFEABy-y=r __S_,,_( X-X)
9 0.1291 0.0735 0.0167 0.0054 0.0095 ap—
10 0.2066 | 0.0848 | 0.0427 0.0072 0.0175 ¥ —1.5802=0.996 0'1737 ( x—0.1055)
1 ) } .079 019 .039
: UiZEs 01400 00791 ey 0.0591 = y —1.5802=2.0075 ( x—0.1055)
12 ) 0.1640 0.1163 .0269 :
QRatl ! 0.026 0059 H y=2.0075% + 1.3684
13 .3989 .1778 .15 ]
0.398 0.17 0.1591 0.0316 0.0709 & D i, T
14 0.4352 0.2167 0.1894 0.0469 0.0943
b3 1.5931 0.3921 0.7870 log (Q — 9.8) =2.0075 logH + log 23.36
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X X, - X (Xi_i)z Y; Y, _Y_i (Yi—Y_i)Z (Xi—YXYi—Y_i)
6 -1 1 5 -1 1 1
5 -2 4 5 -1 1 2
9 2 4 7 1 1 2
9 2 4 8 2 4 4
6 -1 1 4 -2 4 2
7 0 0 7 1 1 0
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) Z (Y, - Y)? Sum of squares due to regression
r= Z (Y, -Y)?  Sum of squares corrected for mean

YRR EEEXE e RS HBFE L g R
YELR B %R

LIPS 10 11 12 1 2 3 4 5

HARX | 494 | 382 | 272 | 286 | 295 | 464 | 49.7 | 57.1

T
L gy | 520 | 610 | 870 | 850 | 880 | 490 | 450 | 250

r? =0.966 (r =-0983)
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